Program 1

This is a program of Addition operation run on the Designed Interpreter:-

EXPLORER [ Test_Exl.asm x
*~ OPEN EDITORS Testing-File > [ Te
1 .main:
addi x5, x@, 4
- addi x1, x5, 5
[1 AND.asm src addi x1, x1, -19
* RISCV-EMULATOR-MAIN .
.print x1

Src
end

1 a.out

1 AND.asm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c

[1 ORasm

E) Readme.txt
Register.h
Shift.h

v Testing-File X515

add.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/OR

AND.asm .asm

x22: 5

Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c v-enulator-main/Testing-File/SL

L.asm

memaph.asm x22: 120

memopw.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c v-enulator-main/Testing-File/SL
OR.asm T.asm

x22: 1

] Readme.txt
‘s:i e Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SR
-3 A.asm

SLT.asm x22: -8
SRA.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SR

SRL.asm L.asm
x22: 4611686018427387896
Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Su
Test_Exl.asm b.asm
Test_Ex2.asm x22: 2
Test_Ex3.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te
st_Exl.asm
L X1 : =18
> OUTLINE Apples-MacBook-Air:src apples I

TERMINAL

memopb.asm
memopd.asm

Sub.asm

Test_Ex4.asm

e e o e e e B e e
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Program 2

This is a program of Subtraction operation run on the Designed Interpreter:-



EXPLORER ] [) Subasm X

~ QPEN EDITORS Testing-File > [] Sub.asm
1 .main:
addi x20, x@, 5
addi x21, x@, 3

) (iprsnee sub x22, x20, x21
* RISCV-EMULATOR-MAIN s
.print x22

src

0 aout
AND.asm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c

| OR.asm

] Readme.txt
Register.h
Shift.h

TERMINAL

v i;Testing-FHe X515

] add.asm Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
AND.asm
memopb.asm PS5 . . : . q

Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/0R
.asm
memoph.asm x22: 5
memopw.asm Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SL

1 OR.asm L.asm

x22: 120

Readme.txt
sii e Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SL
-35m T.asm

SLT.asm ¥22: 1
SRA.asm Apples-MacBook-Air: apples ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SR

| SRL.asm A.asm
x22: -8

Apples-MacBook-Air:src apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SR
Test_Exl.asm L.asm

Test_Ex2.asm %22: 4611686018427387896
Test_Ex3.asm Apples-MacBook-Air:src apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Su

b.asm
Test_Ex4.asm
- - x22: 2

OUTLNE Apples-MacBook-Air:src apples I

memopd.asm

Sub.asm

Ln1,Col1 Spaces:4 UTF-8 CRLF Plain Text

Program 3

This is a program of AND operation run on the Designed Interpreter:-



EXPLORER

~ OPEN EDITORS
MAINFILE.c
0 a.out s
X [ AND.asm src
~ RISCV-EMULATOR-MAIN
src
0 aout
[1 AND.asm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
[J OR.asm
E) Readme.txt
Register.h
Shift.h
m Testing-File
add.asm
AND.asm
memopb.asm
memopd.asm
memoph.asm
memopw.asm
OR.asm
Readme.txt
SLL.asm
SLT.asm
SRA.asm
SRL.asm

Sub.asm

Test_Exl.asm
Test_Ex2.asm
Test_Ex3.asm

Test_Ex4.asm

Test_Ex5.asm

» OUTLINE

AND.asm

~ Jmain:

[ AND.asm X

addi x20, x@, 5
addi x21, x@, 3
and x21, x20, x21

print x21

TERMINAL

Apples-MacBook-Air:src
x21: 1
Apples-MacBook-Air:src
x22: 500
Apples-MacBook-Air:src
Could not read file!!!
Apples-MacBook-Air:src
Could not read file!!!
Apples-MacBook-Air:src
Could not read file!!!
Apples-MacBook-Air:src

LEMS

apples .
apples .
apples .
apple$ .
apple$ .

apple$ .

o bash + v

.out AND.asm

.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/add.asm
.out Testing-File/add.asm

.out ./Testing-File/add.asm

.out /Testing-File/add.asm

.out /Users/applelnocuments/c/riscv—emulatur—main/Testing—File/add.asm;D
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Program 4

This is a program of OR operation run on the Designed Interpreter:-



EXPLORER

~ OPEN EDITORS Testing-File >
MAINFILE.¢ src 1 .main

) AND.asm T e addi x20, x@, 4

OR.asm Testing-File addi x21, x@, 1
[} AND.asm src or x22, x20, x21
v RISCV-EMULATOR-MAIN . pl’int x22
SrC
0 aout
[1 AND.asm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
[) OR.asm
[E) Readme.txt
Register.h
Shift.h

et stk The Could not read file!!!
add.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Document: scv-emulator-main/Testing-File/ad
AND.asm d.asm;
x22: 500
Apples-MacBook-Air: apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/an
d.asm;
memoph.asm x21: 1
memopw.asm Apples-MacBook-Air: apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
ORasm mopb.asm;
] Readme.txt R
Apples-MacBook-Air: apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
SLL.asm mopd
pd.asm
SLT.asm X515
SRA.asm Apples-MacBook-Air: apple$ ./a.out /Users/apple/Document scv-emulator-main/Testing-File/me
SRL.asm moph.asm
X515
Apples-MacBook-Air: apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
Test_Exl.asm mopwW. asm
[) Test_Ex2.asm x5:5
Test_Ex3.asm Apples-MacBook-Air: apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/OR
.asm
—~—— x22: 5
> OUTLINE Apples-MacBook=Air: apples 11
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TERMINAL D

memopb.asm
memopd.asm

D Sub.asm

Test_Exd.asm

Program 5

This is a program of XOR operation run on the Designed Interpreter:-



@ EXPLORER
1
“+ OPEN EDITORS

] Test_Ex13.asm T
[) Test_Ex15.asm T
[ Test_Ex16.asm T
Test_Ex17.asm T
[0 Test Ex18.asm T
D) Test Ex19.asm T
[} Test_Ex20.asm
X [ XOR.asm Testing-File
« RISCV-EMULATOR-MAIN
Sub.asm

Test_Exl.asm

Test_Ex2.asm

Test_Ex3.asm
Test_Exd.asm
[] Test_Ex5.asm
[) Test Ex6.asm
Test_Ex7.asm
[) Test_Ex8.asm
[) Test_Ex9.asm
Test_Ex10.asm
[) Test_Ex1l.asm
[ Test_Ex12.asm
Test_Ex13.asm
[0 Test Ex14.asm
D) Test Ex15.asm
Test_Ex16.asm
[) Test_Ex17.asm
[) Test_Ex18.asm
Test_Ex19.asm
[ Test_Ex20.asm
[ Test Ex21.asm
01 XOR.asm
D) add.asm
] AND.asm
BEQ.asm

1 OR aem
OUTLINE

Testing-File > [} XOR.asm
1 .main:
addi x2@8, x@, 5
addi x21, x@, 3
xor x21, x2@, x21
.print x21
end

TERMINAL E S +

Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te # bash

st_Ex20.asm # bash
35

x2 : 7

Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv—emulator-main/Testing-File/X0

R.asm

X21: 6

Apples-MacBook-Air:src apples [
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Program 6

This is a program of Store Byte and Load Byte operation run on the Designed Interpreter:-



EXPLORER h| [} memopb.asm X

 OPEN EDITORS Testing-File > [1 memopb.asm
1 .main:
addi x2@, x@, 5
memopb.asm Testing-File addi x21, x@, 5
[) AND.asm src sb x21, 6(x20)
* RISCV-EMULATOR-MAIN b x5, 6(x28)

s .print x5

0 aout
AND.asm
Arithmetic.h
Brancinsth
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c

1 OR.asm

£ Readme.txt
Register.h
Shift.h

~ wm Testing-File x21: 1
add.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/ad
AND.asm d.asm

x22: 500

Apples-MacBook-Air:src apple$ ./a.out Testing-File/add.asm

Could not read file!!!

memoph.asm Apples-MacBook-Air:src apple$ ./a.out ./Testing-File/add.asm

memopw.asm Could not read file!!!

OR.asm Apples-MacBook-Ai apple$ ./a.out /Testing-File/add.asm

Could not read file!!!

Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/ad

TERMINAL DE|

memopb.asm

memopd.asm

Readme.txt
SLL.asm
SLT.asm
SRA.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/an

SRL.asm d.asm;

x21: 1

Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
Test_Exl.asm mﬂph_asm;

Test_Ex2.asm X515

Test_Ex3.asm Apples-MacBook-Air:src apples [

Sub.asm

Test_Exd.asm

OUTLINE
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Program 7

This is a program of Store Double and Load Double operation run on the Designed Interpreter:-



EXPLORER h| [} memopd.asm x

~ OPEN EDITORS Testing-File > [] memopd.asm

MAINFILE.¢ sic 1 .main:

) AND.asm T e addi x20, x@, 5

memopd.asm Testing-File addi x21, x@, 5
[ AND.asm sre sd x21, 6(x20)
» RISCV-EMULATOR-MAIN 1d x5, 6(x20)

51 .print x5

0 a.out
[1 AND.asm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
[1 ORasm
E) Readme.ixt
Register.h
Shift.h
v Testing-File x21: 1
[ add.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents iscv-emulator-main/Testing-File/ad
AND.asm d.asm
x22: 500
7 Apples-MacBook-Air:src apple$ ./a.out Testing-File/add.asm
Memopc.asm Could not read file!!!
memoph.asm Apples-MacBook-Air:src apple$ ./a.out ./Testing-File/add.asm
memopw.asm Could not read file!!!
OR.asm Apples-MacBook-Air:src apple$ ./a.out /Testing-File/add.asm
| B Could not read file!!!
- Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c v-enulator-main/Testing-File/ad
-A5M d.asm;
SLT.asm x22: 500
SRA.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/an
SRL.asm d.asm;
x21: 1
Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents iscv-emulator-main/Testing-File/me
Test_Exl.asm mopb.asm;
Test_Ex2.asm X515
Test_Ex3.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
mopd.asm
—— X5 :5
OUTLINE Apples-MacBook-Air:src apples I

TERMINAL

memopb.asm

1 e e ) o e e

Sub.asm

Test_Ex4.asm
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Program 8

This is a program of Store Half and Load Half operation run on the Designed Interpreter:-



EXPLORER b [} memoph.asm x

~ OPEN EDITORS Testing-File > memoph.asm
MAINFILE.¢ sic 1 .main:
addi x20, x@, 5
memoph.asm Testing-File addi x21, x@, 5
[ AND.2sm src sh x21, 6(x20)
v RISCV-EMULATOR-MAIN 1h Xs, E(XZG)
Ak .print x5
a.out
AND.asm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
D) OR.asm
[E Readme.txt
Register.h
Shift.h

Testing-File x22: 500
add.asm Apples-MacBook-A apple$ ./a.out Testing-File/add.asm
] AND.asm Could not read file!!!
Apples-MacBook-Air:src apple$ ./a.out ./Testing-File/add.asm
Could not read file!!!
Apples-MacBook-Air:src apple$ ./a.out /Testing-File/add.asm
memoph.asm Could not read file!!!
memopw.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/ad
OR.asm d.asm;
Readme.txt x22: 500
Apples-MacBook-Air:src apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/an
SLL.asm d.asm;
SLT.asm x21: 1
SRA.asm Apples-MacBook-Air:src apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
SRL.asm mopb.asm;
X515
Apples-MacBook-Air:src apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
Test_Exl.asm mupd.asm
Test_Ex2.asm x5:5
Test_Ex3.asm Apples-MacBook-Air:src apple$ ./a. /Users/apple/Document: scv-emulator-main/Testing-File/me
moph.asm
X5:5

TERMINAL D

| memopb.asm
| memopd.asm

Sub.asm

Test_Exd.asm

ouTLNE Apples-MacBook-Air:src apple$ I
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Program 9

This is a program of Store Word and Load Word operation run on the Designed Interpreter:-



EXPLORER

~ OPEN EDITORS
MAINFILE.c
[ memopw.asm Testing-File
AND.asm
~ RISCV-EMULATOR-MAIN
sre
D a.out
AND.asm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
OR.asm
Readme.ixt
Register.h
Shift.h

v wa Testing-File
[ add.asm
AND.asm
memopb.asm
memopd.asm

memoph.asm

[ memopw.asm
OR.asm
Readme.txt
SLL.asm
SLT.asm
SRA.asm
SRL.asm
Sub.asm
Test_Exlasm
Test_Ex2.asm
Test_Ex3.asm
Test_Ex4.asm

OUTLINE

Testing-File
1 .main:

memopw.asm

addi x2@6, x@, 5
addi x21, x@, 5
sw x21, 6(x20)
w x5, 6(x28)

.print x5

TERMINAL D

Apples-MacBook-Air:src
Could not read file!!!
Apples-MacBook-Air:src
Could not read file!!!
Apples-MacBook-Air:src
d.asm;

x22: 5
Apples-MacBook-Air:src
d.asm;

x21: 1
Apples-MacBook-Air:
mopb.asm;

x5 :5
Apples-MacBook-Air:
mopd.asm

X5 : 5
Apples-MacBook-Air:
moph.asm

x5 15
Apples-MacBook-Air:
mopwW.asm

X5t 5
Apples-MacBook-Air:

apple$ .

apple$ .

apple$

apple$ .

apple$ ./a.

apple$ ./a.

apple$ ./a.

apples I

[ memopw.asm X

./Testing-File/add.asm
/Testing-File/add.asm

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/ad

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/an

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/me

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/me

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/me

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/me
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Program 10

This is a program of Logical Shift Left operation run on the Designed Interpreter:-



EXPLORER \ [} SLLasm X

+ OPEN EDITORS Testing-File > SLL.asm
1 .main:
addi x20, x@, 30
% [] SLL.asm Testing-File addi x21, x@, 2

] AND.asm src s1l x22, x20, x21
* RISCV-EMULATOR-MAIN {
.print x22

S1C

[ a.out erd

[ AND.asm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c

] OR.asm

[E] Readme.txt
Register.h
Shift.n

TERMINAL DE|

~ i Testing-File x22: 500
add.asm Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/an
AND.asm d.asm;
x21: 1
Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
mopb.asm;
memoph.asm ]
memopw.asm Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
OR.asm mopd.asm
Readme.txt X5t 5 . : 7 . q
Apples-MacBook-Air: apple$ ./a. /Users/apple/Document: iscv-emulator-main/Testing-File/me
SLL.asm moph
ph.asm
SLT.asm X51:5
SRA.asm Apples-MacBook-Air: apple$ ./a. /Users/apple/Document: iscv-emulator-main/Testing-File/me

SRL.asm mopw.asm
X5 :5

memopb.asm

memopd.asm

Y e i

— Apples-MacBook-Ai apples ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/OR
Test_Exl.asm .asm

Test_Ex2.asm x22: 5

Test_Ex3.asm Apples-MacBook-Air:src apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SL
L.asm

R x22: 120

> OUTLINE Apples-MacBook-Air: apples I

[ Test_Ex4.asm
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Program 11

This is a program of Set Less Than operation run on the Designed Interpreter:-



EXPLORER i) [ SLT.asm X

~ OPEN EDITORS Testing-File > [ SLT.asm
1 .main:
addi x2@6, x@, 2
addi x21, x@, 5
slt x22, x28, x21

.print x22

v RISCV-EMULATOR-MAIN
src
D a.out
AND.2sm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
OR.asm
E Readme.txt
Register.h
Shift.h
v wa Testing-File x21: 1
] add.asm Apples—-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv—emulator-main/Testing-File/me
AND.asm mopb.asm;
X5 15
Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
mopd.asm
memoph.asm X5 : 5
memopw.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
OR.asm moph.asm
x5 15
Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
mOpwW.asm
SLT.asm x5 :5
SRA.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/0R
SRL.asm EASH
x22: 5
Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SL
Test_Exl.asm L.asm
[ Test_Ex2.asm x22: 120
Test_Ex3.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv—emulator-main/Testing-File/SL
T.asm
= — x22: 1
OUTLINE Apples-MacBook-Air:src apples I

TERMINAL

memopb.asm
memopd.asm

Readme.txt
SLL.asm

e N el

Sub.asm

Test_Ex4.asm

Ln1,Col1 Spaces:4 UTF-8 CRLF Plain Text

Program 12

This is a program of Arithmetic Shift Right operation run on the Designed Interpreter:-



EXPLORER i) [ SRA.asm X

~ OPEN EDITORS Testing-File > [) SRA.asm
1 .main:
addi x2@6, x@, -30
addi x21, x@, 2
sra x22, x20, x21

.print x22

~ RISCV-EMULATOR-MAIN
sre
D a.out
AND.asm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
OR.asm
E Readme.txt
Register.h
Shift.h
v wa Testing-File X5 : 5

TERMINAL

] add.asm Apples-MacBook-Air:src ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
AND.asm mopd.asm

X5 15

Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
moph.asm

memoph.asm X5 : 5

memopw.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/me
OR.asm MopwW.asm

x5 15

Readme. . : o q q
Sit me.tat Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/0R
.asm .asm

SLT.asm x22: 5
SRA.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SL
SRL.asm L.asm
x22: 120
- Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SL
Test_Exl.asm T.asm
[ Test_Ex2.asm x22: 1
Test_Ex3.asm Apples—-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv—emulator-main/Testing-File/SR
A.asm
= — x22: -8
OUTLINE Apples-MacBook-Air:src apples I

memopb.asm
memopd.asm

Sub.asm

Test_Ex4.asm
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Program 13

This is a program of Logical Shift Left operation run on the Designed Interpreter:-



EXPLORER

~ OPEN EDITORS
MAINFILE.c

[) SRL.asm Testing-File

AND.asm
~ RISCV-EMULATOR-MAIN
sre

D a.out
AND.asm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
OR.asm
Readme.ixt
Register.h
Shift.h

v wa Testing-File
[ add.asm
AND.asm
memopb.asm
memopd.asm

memoph.asm
memopw.asm
OR.asm
Readme.txt
SLL.asm
SLT.asm
SRA.asm

[} SRL.asm
Sub.asm
Test_Exlasm
Test_Ex2.asm
Test_Ex3.asm
Test_Ex4.asm

OUTLINE

Testing-File SRL.asm
1 .main:
addi x2@6, x@, -30
addi x21, x@, 2
srl x22, x28, x21
.print x22

TERMINAL D

X5 !5
Apples-MacBook-Air:src
moph.asm

X5 15
Apples-MacBook-Air:src apples$ .
MOpW.asm

X5 : 5
Apples-MacBook-Air:src apples
.asm

x22: 5

Apples-MacBook-Air:src apple$ .
L.asm

x22: 120

Apples-MacBook-Air:src apples$ ./a.

T.asm
x22: 1

Apples-MacBook-Air:src apples$ ./a.

A.asm
x22: -8

Apples-MacBook-Air:src apple$ ./a.

L.asm
x22: 4611686018427387896
Apples-MacBook-Air:src apples I

D) SRLasm X

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/me

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/me

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/0R

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/SL

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/SL

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/SR

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/SR

Ln1,Col1 Spaces:4 UTF-8 CRLF Plain Text

Program 14

This is a program of an Example from the Book Computer Organisation and Architecture run on
the Designed Interpreter:-



EXPLORER h| [ TestEx2.asm X
~~ OPEN EDITORS Testing-File
MAINFILE.c 1 .main:
addi x5, x@, @
Test_Ex2.asm Testing-File ori x1, x5, 1
AND.asm
v RISCV-EMULATOR-MAIN

sub x5, x@, x1

.print x5
src
- end
a.out
AND.2sm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
OR.asm
Readme.txt
Register.h
Shift.h
v wa Testing-File X221 5
0 add.asm Apples—MacBook-Air:src apple$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing—File/SL
AND.asm L.asm
x22: 120
Apples-MacBook-Air:src apples$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SL
T.asm
memoph.asm x22: 1
memopw.asm Apples-MacBook-Air:src apples /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SR
OR.asm A.asm
x22: -8
Apples-MacBook-Air:src apple$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing-File/SR
L.asm
SLT.asm x22: 4611686018427387896
SRA.asm Apples-MacBook-Air:src apples$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Su

SRL.asm b.asm
x22: 2
Apples-MacBook-Air:src apples$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te
Test_Exl.asm
st_Exl.asm
Test_Ex2.asm x1 : -18
Test_Ex3.asm Apples—MacBook-Air:src apple$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te
st_Ex2.asm
- X5t -1
OUTLINE Apples-MacBook-Air:src apples I

TERMINAL D

memopb.asm
memopd.asm

Readme.txt
SLL.asm

Sub.asm

Test_Ex4.asm

Ln1,Col1 Spaces:4 UTF-8 CRLF Plain Text

Program 15

This is a program of an Example from the Book Computer Organisation and Architecture run on
the Designed Interpreter:-



EXPLORER

~ OPEN EDITORS
MAINFILE.c
[) Test_Ex3.asm Testing-File
AND.asm
~ RISCV-EMULATOR-MAIN
sre
D a.out
AND.asm
Arithmetic.h
Brancinst.h
DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
OR.asm
Readme.ixt
Register.h
Shift.h

v wa Testing-File
[ add.asm
AND.asm
memopb.asm
memopd.asm

memoph.asm
memopw.asm
OR.asm
Readme.txt
SLL.asm
SLT.asm
SRA.asm
SRL.asm
Sub.asm
Test_Exlasm
Test_Ex2.asm
Test_Ex3.asm
Test_Ex4.asm

OUTLINE

Testing-File
1 .main:
addi x5, x@, 12
mul x6, x5, x5
mul x6, x6, x5
addi x6, x6, 1
.print x6
end

TERMINAL D

x22: 120
Apples-MacBook-Air:src apple$ .
T.asm

x22: 1

Apples-MacBook-Air:src apples$ .
A.asm

x22: -8

Apples-MacBook-Air:src apples
L.asm

x22: 4611686018427387896
Apples-MacBook-Air:src apple$ .
b.asm

x22: 2

Apples-MacBook-Air:src apples$ ./a.

st_Exl.asm
x1l : -18

Apples-MacBook-Air:src apples$ ./a.

st_Ex2.asm
x5 : -1

Apples-MacBook-Air:src apple$ ./a.

st_Ex3.asm
X6 & 1729
Apples-MacBook-Air:src apples I

D Test.Ex3asm X

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/SL

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/SR

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/SR

/Users/apple/Documents/c/riscv—emulator-main/Testing—File/Su

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

Ln1,Col1 Spaces:4 UTF-8 CRLF Plain Text

Program 16

This is a program of an Example from the Book Computer Organisation and Architecture run on
the Designed Interpreter:-



EXPLORER h| [ TestExd.asm X

~~ OPEN EDITORS Testing-File
MAINFILE.c 1 .main:
addi x5, x@, 64

Test_Ex4.asm Testing-File srai x6, x5, 2
AND.asm
v RISCV-EMULATOR-MAIN

(1 AND.asm

Arithmetic.h

Brancinst.h

.print x6
end

DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
D) ORasm
[E Readme.txt
Registerh
Shift.h
Testing-File
[} add.asm
[ AND.asm

TERMINAL D

x22: 1
memopb.asm Apples-MacBook-Air:src apple$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing-File/SR
[ memopd.asm A.asm
memoph.asm x22: -8
Apples-MacBook-Air:src apples$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/SR
L.asm
e x22: 4611686018427387896
Readme.txt Apples-MacBook-Air:src apples /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Su
SLL.asm b.asm
SLT.asm x22: 2
e Apples—MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te
y st_Exl.asm
SRL.asm x1 : -10
Sub.asm Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te
Test_Exl.asm st_Ex2.asm
x5 @ -1
Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te
st_Ex3.asm
[} Test_Exd.asm x6 : 1729
Test_Ex5.asm Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te
Test_Ex6.asm st_Exd.asm
[P, x6 & 16
OUTLINE Apples-MacBook-Air: apples [

[ memopw.asm

Test_Ex2.asm

Test_Ex3.asm

Ln1,Col1 Spaces:4 UTF-8 CRLF Plain Text

Program 17

This is a program of an Example from the Book Computer Organisation and Architecture run on
the Designed Interpreter:-



EXPLORER h| [ TestExS.asm X

~~ OPEN EDITORS Testing-File
MAINFILE.c 1 .main:

addi x5, x@, 25
Test_Ex5.asm Testing-File slli x5, x5, 2
AND.asm addi x6, x@, 10
v RISCV-EMULATOR-MAIN

add x6, x5, x6

[ AND.asm )
Arithmetic.h .print x6

Brancinst.h

end

DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
D) ORasm
[E Readme.txt
Registerh
Shift.h
Testing-File
[} add.asm
[ AND.asm

TERMINAL D

x22: -8
memopb.asm Apples-MacBook-Air:src apple$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing—File/SR
[ memopd.asm L.asm
memoph.asm X22: 4611686018427387896
Apples-MacBook-Air:src apples$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Su
b.asm
x22: 2
Readme.txt Apples-MacBook-Air:isrc apples$ /Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te
SLL.asm st_Exl.asm
SLT.asm xl : -18 X . . . .
e Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te
y st_Ex2.asm
SRL.asm x5 1 -1
Sub.asm Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te
Test_Exl.asm st_Ex3.asm
x6 : 1729
Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te
st_Ex4.asm
Test_Exd.asm x6 : 16
[} Test_Ex5.asm Apples-MacBook-Air: apple$ ./a. /Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te
Test_Ex6.asm st_Ex5.asm
Moo x6 @ 110
OUTLINE Apples-MacBook-Air: apples [

[ memopw.asm
OR.asm

Test_Ex2.asm

Test_Ex3.asm

Ln1,Col1 Spaces:4 UTF-8 CRLF Plain Text

Program 18

This is a program of an Example from the Book Computer Organisation and Architecture run on
the Designed Interpreter:-



EXPLORER

~ OPEN EDITORS
MAINFILE.c

AND.asm
~ RISCV-EMULATOR-MAIN
L1 AND.asm
memopb.asm
memopd.asm
memoph.asm
memopw.asm
OR.asm
Readme.txt
SLL.asm
SLT.asm
SRA.asm
SRL.asm
Sub.asm
Test_Exl.asm
Test_Ex2.asm
Test_Ex3.asm
Test_Ex4.asm
[ Test_Ex5.asm
[ Test_Ex6.asm
[ Test_Ex7.asm
[ Test ExB.asm
Test_Ex9.asm
[0 Test_Ex10.asm
Test Ex11.asm
[0 Test Ex12.asm
Test_Ex13.asm
[ Test_Ex14.asm
Test_Ex15.asm
[ Test_Ex16.asm
Test_Ex17.asm
[0 Test_Ex18.asm

Test_Ex19.asm
Y Tact FvIn sem
QUTLINE

Test_Ex6.asm Testing-File

Testing-File

1

.main:

addi x7, x@, 5
addi x5, x@, 1
addi x6, x@, 1
loop:

mul x5, x6, x5
addi x6, x6, 1

bge x7, x6, loop

.print x5
end

TERMINAL D

x22: 4611686018427387896
Apples-MacBook-Air:src apple$ .
b.asm

x22:

2

Apples-MacBook-Air:src
st_Ex1l.asm

ik

-10

Apples-MacBook-Air:src
st_Ex2.asm

x5

=il

Apples-MacBook-Air:src
st_Ex3.asm

x6 :

1729

Apples-MacBook-Air:src
st_Exd4.asm

X6 :

16

Apples-MacBook-Air:src
st_Ex5.asm

x6 @

110

Apples-MacBook-Air:src
st_Ex6.asm

)

120

Apples-MacBook-Air:src

apple$ .

apple$

apple$ .

apple$ ./a.

apple$ ./a.

apple$ ./a.

apples I

D Test.Ex6.asm X

/Users/apple/Documents/c/riscv—emulator-main/Testing—File/Su

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

Ln1,Col1 Spaces:4 UTF-8 CRLF Plain Text

Program 19

This is a program of an Example from the Book Computer Organisation and Architecture run on
the Designed Interpreter:-



EXPLORER

~ OPEN EDITORS

[) Test_Ex8.asm Testing-File
[ AND.asm
~ RISCV-EMULATOR-MAIN

DataTransfer.h
Execution.h
Logical.h
MAINFILE.c
OR.asm

E Readme.txt
Register.h
Shift.h

Testing-File

add.asm
AND.asm
memopb.asm
memopd.asm
memoph.asm

[ memopw.asm

[ OR.asm

E Readme.txt
SLL.asm
SLT.asm

[ SRA.asm
SRL.asm

[0 Sub.asm
Test_Exl.asm
Test_Ex2.asm
Test_Ex3.asm
Test_Exd.asm
Test_Ex5.asm
Test_Ex6.asm
Test_Ex7.asm

D) Test Ex8.asm
Test_Ex9.asm

OUTLINE

D Test.Exg.asm x

Testing-File > [
1 .foo:
addi x5, x@, 2
jalr x@, @a(x1)
.main:
addi x6, x@, 3
jal x1, .foo
add x7, x5, x6
print x7
end

TERMINAL

x1 : -10
Apples-MacBook-Air:src
st_Ex2.asm

x5 &
Apples-MacBook-Air:src
st_Ex3.asm

x6 : 1729
Apples-MacBook-Air:src
st_Ex4.asm

x6 : 16
Apples-MacBook-Air:src
st_Ex5.asm

x6 : 110
Apples-MacBook-Air:src
st_Ex6.asm

x5 : 120
Apples-MacBook-Air:src apples$ ./a.
st_Ex7.asm

The instruction in line number 18
Apples-MacBook-Air:src apple$ ./a.out
st_Ex8.asm

X7+ 5

Apples-MacBook-Air:src apples I

apple$ ./a.out

apple$ ./a.out
apple$ ./a.out
apple$ ./a.out
apple$ ./a.out

out

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

is INVALID.

/Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

Ln1,Col1 Spaces:3 UTF-8 CRLF Plain Text

Program 20

This is a program of an Example from the Book Computer Organisation and Architecture run on
the Designed Interpreter:-



EXPLORER h| [ TestEx9.asm X
~~ OPEN EDITORS Testing-File
MAINFILE.c 1 .main:
addi x5, x@, 31
addi x9, x@, 64
AND.asm addi x10, x@, 1

Test_Ex8.asm Testing-File

~ RISCV-EMULATOR-MAIN

Logical.h
MAINFILE.c
D CRasm

B Readme.txt
Register.h
Shift.h

- w Testing-File

add.asm
AND.asm
memopb.asm
memopd.asm
memoph.asm
memopw.asm
OR.asm
E Readme.txt

addi x6, x@, 1
addi x7, x@, @
. Loop:

andi x8, x5, 1

bne x8, x1@, .increment

addi x7, x7, 1

.increment:

srli x5, x5, 1

addi x6, x6, 1

bge x9, x6, .loop
print x7

TERMINAL D

d

SLLasm st_Ex3.asm 2 bash
SLT.asm x6 : 1729 9 bash
SRA.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te
shL st_Ex4.asm

asm x6 : 16

Sub.asm Apples-MacBook-Air:isrc apples$ . out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te

Test_Exl.asm
Test_Ex2.asm

st_Ex5.asm

x6 @

110

Test_Ex3.asm Apples—-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te

Test_Ex4.asm

st_Ex6.asm

X3 1

120

Test_Ex5.asm
Test_Ex6.asm

Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te
st_Ex7.asm
Test Ex7.asm The instruction in line number 1@ is INVALID.

g Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv—-emulator-main/Testing-File/Te
Test_Ex8.asm

st_Ex8.asm

Test_Ex9.asm X7 : 5
Test_Ex10.asm Apples—-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv—emulator-main/Testing-File/Te
st_Ex9.asm
P X7+ 5
OUTLINE Apples-MacBook-Air:src apples I

Test_Exil.asm

Ln1,Col1 Spaces:4 UTF-8 CRLF Plain Text

Program 21

This is a program of an Example from the Book Computer Organisation and Architecture run on
the Designed Interpreter:-



EXPLORER h| [ TestEx12asm x

~~ OPEN EDITORS Testing-File
MAINFILE.c 1 .main:
| AND.asm Te: e addi x1, x@, 31
[ Test_Exi2.asm Testing-File addi x2, x@, 29

AND.asm mul x3, x1, x2
v RISCV-EMULATOR-MAIN

Sub.asm .print x3
Test_Ext.asm subi x4, x3, 50
Test_Ex2.asm end

Test_Ex3.asm

Test_Ex4.asm

Test_Ex5.asm

Test_Ex6.asm

Test_Ex8.asm
[ Test Ex9.asm
Test_Ex10.asm
[ Test Exil.asm
[ Test Ex12.asm
D) Test_Ex13.asm
Test_Ex14.asm
[ Test_Ex15.asm
Test_Ex16.asm TERMINAL D ONSO LEMS OUTPU dio
[J Test_Ex17.asm
Test_ExiB.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te 2 bach
st_Ex12.asm
X3 : 899
Test_Ex20.2sm The instruction in line number 6 is INVALID.
[ Test_Ex21asm Apples-MacBook-Air:src apples I
XOR.asm
add.asm
AND.asm
BEQ.asm
OR.asm
ReadMe
riscVB4bit.c
SLL.asm
SRL.asm

Suh aem

OUTLINE

# bash

[0 Test_Ex19.asm

Ln1,Col1 Spaces:5 UTF-8 CRLF Plain Text

Program 22

This is a program of an Example from the Book Computer Organisation and Architecture run on
the Designed Interpreter:-



EXPLORER h| h| [} TestExtd.asm X
 OPEN EDITORS Testing-File > [} Te
MAINFILE.¢ src 1 .main:
AND.asm Te e addi x1, x@, 5
[ Test Ex13.asm T File addi x2, x@, 1
[) Test_Exid.asm Testing-File loop:
0] 8 .print x5
v RISCV-EMULATOR-MAIN
L1 Sub.asm mul x1, x1, x2
[ Test_Exl.asm addi x2, x2, 1
[ Test_ExZasm bne x2, 10, loop
Test_Ex3.asm end
Test_Ex4.asm
Test_Ex5.asm

Test_Ex6.asm

[) Test_Ex7.asm

Test_ExB.asm

[] Test_Ex9.asm

[) Test Ex10.asm
Test_Ex11.asm
Test_Ex12.asm

| Test_Ex13.asm

Test_Ex14.asm

Test_Ex15.asm TERMINAL

] Test_Ex16.asm
Test Exi7.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te
y st_Exl4.asm
X510
] Test Ex19.asm The instruction in line number 8 is INVALID.
Test_Ex20.asm Apples-MacBook-Air:src apples I

[ Test_Ex21.asm
XOR.asm
add.asm

[ AND.asm

) BEQ.asm
OR.asm

[ ReadMe
riscVB4bit.c
SLL.asm

[0 Test_Ex18.asm

1 SRl aem
OUTLINE

Ln1,Col1 Spaces:4 UTF-8 CRLF Plain Text

Program 23

This is a program to print multiples of ‘5’ run on the Designed Interpreter:-



EXPLORER h| h| [} Test_Ex1d.asm X
~ OPEN EDITORS Testing-File > [ Te:
MAINFILE.¢ src «main:
AND.asm Testing-File addi x1, x@, 5
[) Test_Ex13.asm Testing-File addi x2, x@, 1

% [ Test_Ex14.asm Testing-| 4 addi x3, x0, 11
- ' )
[ AND.asm loop:

v RISCV-EMULATOR-MAIN
Sub.asm mul x4, x1, x2

[} Test_Exl.asm .print x4

[ Test_ExZasm addi x2, x2, 1
Test_Ex3.asm bne x2, x3, loop
Test_Ex4.asm end

Test_Ex5.asm

Test_Ex6.asm

[) Test_Ex7.asm
Test_ExB.asm
[] Test_Ex9.asm
[) Test Ex10.asm
Test_Ex11.asm
Test_Ex12.asm
| Test_Ex13.asm
Test_Ex14.asm
Test_Ex15.asm TERMINAL

] Test_Ex16.asm
Test Ex17.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te

st_Ex14.asm
D Test_Ex18.asm x4 1 5

) Test Ex19.asm x4 : 10
Test_Ex20.asm : 15
[ Test_Ex21.asm %
XOR.asm . 30
add.asm : 35
[ AND.asm : 40
) BEQ.asm 4 ] g;
OR.asm e 2 i
D) ReadMe Apples-MacBook-Air:src apples$ I
riscVB4bit.c
SLL.asm

1 SRl aem
OUTLINE

Lnd,Col16 Spaces:4 UTF-8 CRLF Plain Text

Program 24

This is a program to print multiple of ‘9’ run on the Designed Interpreter:-



EXPLORER h| h| 3 [ Test_Ex15.asm X
 OPEN EDITORS Testing-File > [} Te
MAINFILE.¢ src «main:
AND.asm Te e addi x1, x@, 9
Test_Ex13.asm T File addi x2, x@, 1
Test_Exld.asm T s
= addi x3, x@, 11
[ Test_Ex15.asm Testing-File laop:

[ AND.2sm

— mul x4, x1, x2
* RISCV-EMULATOR-MAIN .

L1 Sub.asm .print x4

[ Test_Exl.asm addi x2, x2, 1
Test_Ex2.asm bne x2, x3, .loop
Test_Ex3.asm end
Test_Ex4.asm

Test_Ex6.asm

[) Test_ExG.asm
Test_Ex7.asm
[ Test_ExB.asm
[) Test Ex9.asm
Test_Ex10.asm
[} Test_Exilasm
[) Test_Ex12.asm
Test_Ex13.asm
] Test_Ex14.asm TERMINAL

[ Test_Ex15.asm
Test Ex16.asm Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te
s st_Ex15.asm

[0 Test Ex17.asm

[ Test_Ex18.asm x4 1
Test_Ex19.asm

D) Test Ex20.asm

) Test_Ex2lasm

XOR.asm
[ add.asm
) AND.asm
BEQ.asm
[ OR.asm
[ ReadMe
riscVBdbit.c

x4 : 90
Apples-MacBook-Air:src apples$ I

Q11 asm

OUTLINE

Ln5 Col2 Spaces:4 UTF-8 CRLF Plain Text

Program 25

This is a program to print numbers from 2 to 20 run on the Designed Interpreter:-



EXPLORER

~ OPEN EDITORS

[ AND.asm Test

Test_Ex13.asm

Test_Ex14.asm

Test_Ex15.asm g

% [ Test Ex16.asm Testing-File
01 AND.asm src

~ RISCV-EMULATOR-MAIN
Ll Sub.asm

[) Test Exl.asm
Test_Ex2.asm
[ Test_Ex3.asm
[ Test_Ex4.asm
Test_Ex5.asm
Test_Ex6.asm
Test_Ex7.asm
[0 Test Ex8.asm
Test_Ex9.asm
[ Test_Ex10.asm
[ Test_Exilasm
Test_Ex12.asm
Test_Ex13.asm
Test_Ex14.asm
[] Test_Ex15.asm
[) Test Ex16.asm
[0 Test Ex17.asm
[ Test_Ex18.asm
Test_Ex19.asm
Test_Ex20.asm
Test_Ex21.asm
[ XOR.asm
add.asm
LUDER]
BEQ.asm
OR.asm
ReadMe

rierVRAhit ~
OUTLINE

Testing-File >
«main
addi x1, x@, 1
addi x2, x@, 1
addi x4, x@, 20
loop:
add x3, x1, x2
.print x3
addi x2, x2, 1
bne x2, x4, loop
end

TERMINAL LEMS

[ TestExiB.asm x

Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te

st_Ex16.asm

X3 1 20
Apples-MacBook-Air:src apples I

Program 26
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D

a4
¢ bash
# bash

This is a program to print squares of numbers from 1 to 10 run on the Designed Interpreter:-



@ EXPLORER 3 3 h| [ Test_Ex18.asm >
1

~ OPEN EDITORS Testing-File > [} Te
MAINFILE.c src .main:
AND.asm Te e addi x1, x@, 1

D Test_Ex13.asm T File 3 addi x2, x@, 11
] Test_Ex14.asm T loop:

Test_Ex15.asm T il x3, x1, x1
[ Test Ex16.asm T .
- .print x3
® [ Test Ex17.asm T ddi x1 1,1
) Test_Ex18.asm Testing-File agel X8, xi,
[] AND.asm bne x1, x2, loop

~ RISCV-EMULATOR-MAIN end
Sub.asm

Test_Exl.asm

Test_Ex2.asm

Test_Ex3.asm
Test_Exd.asm
[] Test_Ex5.asm
[) Test Ex6.asm
Test_Ex7.asm

[ Test_Ex8.asm TERMINAL E S i

U= ] Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te # bash

Te
est_Ex10.asm st_Ex18.asm plbsst
01 Test Ex1.asm 1 1
[ Test_Ex12.asm 4
Test_Ex13.asm . 26
[Q Test Ex14.asm . 25
[ Test_Ex15.asm : 36
Test_Ex16.asm : 49
[l TestExiZasm 64
[1 Test_Ex18.asm 3 G
= = x3 : 100
Test Ex18.asm Apples-MacBook-Air:src apple$ [l
[ Test_Ex20.asm

| Test Ex21.asm
XOR.asm
[ add.asm
] AND.asm
BEQ.asm

1 OR aem
OUTLINE

Ln3,Col16 Spaces:4 UTF-8 CRLF Plain Text

Program 27

This is a program to print Cubes of numbers from 1 to 10 run on the Designed Interpreter:-



@ ©eLome y D y o y [ Test Ex19.asm >
1

~ OPEN EDITORS Testing-File > [ Te:
MAINFILE.¢ src «main:
AND.asm Te e addi x1, x@, 1
D TestEx3asm 1 File addi x2, x@, 11
] Test_Exld.asm T loop:
Test_Ex15.asm T
[0 Test Ex16.asm T
Test_Ex17.asm T
Test_Ex18.asm T

mul x3, x1, x1
mul x3, x3, x1
.print x3

% [ Test_Ex19.asm Testing-File addi x1, x1, 1
~ RISCV-EMULATOR-MAIN bne x1, x2, loop
Sup.asm ] Erld

) Test_Exl.asm
) Test_ExZ.asm
) Test_Ex3.asm
Test_Exd.asm
Test_Ex5.asm
1 Test Ex6.asm
Test_Ex7.asm

Test_FxB.asm TERMINAL E S i

) Test_Ex9.asm

Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te # bash

Test_Ex10.asm st Ex19.asm
Test_Ex1l.asm : 1
[ Test_Ex12.asm : 8
Test_Ex13.asm . 21
Test_Ex14.asm . 235
| Test_Ex15.asm : 216
Test_Ex16.asm 1 343
Test_Ex17.asm 512
: 729
x3 : 1000
Test_Ex10.asm Apples-MacBook-Air:src apples I
Test_Ex20.asm
| Test Ex21.asm
XOR.asm
[ add.asm
] AND.asm
BEQ.asm

1 OR aem
OUTLINE

# bash

Test_Ex18.asm

Nwrl e ur i)

Ln10,Col 4 Spaces:4 UTF-8 CRLF Plain Text

Program 28

This is a program to Swap two numbers run on the Designed Interpreter:-



@ EXPLORER h| h| h| h| h| [ Test_Ex20.asm X
1

 OPEN EDITORS Testing-File > [ Te:
L «main:
Test_Ex13.asm T e addi x1, x@, 7
[ Test_Ex14.asm F addi x2, x@, 5
[) Test_Exi5.asm T add x3, x0, x1
o D) T o o
[ Test_Ex18.asm SR T
sub x2, x2, x1

[ Test_Ex19.asm T X
«print x1

X [1 Test_Ex20.asm Testing-File
+ RISCV-EMULATOR-MAIN .print x2
Sup.asm Erld

Test_Exl.asm

Test_Ex2.asm

Test_Ex3.asm
Test_Exd.asm
[] Test_Ex5.asm
[) Test Ex6.asm
Test_Ex7.asm

[ Test_Ex8.asm TERMINAL E S i

U= ] Apples-MacBook-Air:src apple$ ./a.out /Users/apple/Documents/c/riscv-emulator-main/Testing-File/Te # bash

Test_Ex10.asm st_Ex20.asm -
[ Test_Ex11.asm . 5
[ Test Ex12.asm : 7
Test_Ex13.asm Apples-MacBook-Air:src apples i
[0 Test Ex14.asm
D) Test Ex15.asm
Test_Ex16.asm
[ Test_Ex17.asm
[) Test_Ex18.asm
[ Test Ex19.asm
[ Test_Ex20.asm
[) Test Ex21.asm
XOR.asm
[ add.asm
] AND.asm
BEQ.asm
Y OR aem
QUTLINE

Ln7 Col13 Spaces:4 UTF-8 CRLF Plain Text

Program 29

This is a program to Division of two numbers run on the Designed Interpreter:-



@ VW DIV.asm - Notepad =

T File Edit Format View Help
.main:
addi x20, x@, 3e@
addi x21, xe, 1e@
div x22, x20, x21
.print x22

C: \Users\USER\Downloads\RISC-V\riscv-emulator-main>MAINFILE DIV.asm

%92: 3
:\Users\USER\Downloads\RISC-V\riscv-emulator-mainyg

enﬂ

Ln6, Col 4 100%  Windows (CRLF) UTF-8

Program 30

This is a program of Multiplication of two numbers run on the Designed Interpreter:-




Microsoft Windows [Version 10.0.19041,928]
Ml(c) Microsoft Corporation. All rights reserved.

C:\Users\USER>cd C:\Users\USER\Downloads\RISC-V\riscv-emulator-main

MUL.asm - Notepad

File Edit Format View Help
.main:
addi x20, x8, 4@
addi x21, x@, 56
mul x22, x2@, x21
.print x22

rs\USER\Downloads\RISC-V\riscv-emulator-main>MAINFILE MUL.asm [

: 2000

C:\Users\USER\Downloads\RISC-V\riscv-emulator-main>

Could not read file!!!

5\USER\Downloads\RISC-

8

C:\Users\USERY,

Ln 6, Col 4

Program 31

This is a program to find remainder of two numbers run on the Designed Interpreter:-

REM.asm - Notepad

File Edit Format View Help

100%  Windaws (CRLF)

.main:
mulator-main>MAINFILE C: nloads\REM. asm addi x29, x0, 25
o ' e addi x21, x0, 17
rem x22, x28, x21
scv-emulator-maind, .print x22
end
Ln6, Col4

100%  Windows (CRLF)

UTF-8

UTF-8



Program 32

This is a program to find sum of first ‘n’ natural numbers run on the Designed Interpreter:-

—— | Test_Fx22.5m - Notepad -

File Edit Format View Help
Jmain:

addi x1, x@, 1

addi x4, x@, 15
loop:

add x3, x3, x1

addi x1, x1, 1

bge x4, x1, loop
.print x3

end

C: \Users\USER\Downloads\RISC-V\riscv-emulator-maindMAINFILE C:\Users\USER\Downloads\Test_Ex22.asm
X3

C: \Users\USER\Downloads\RISC-V\riscv-emulator-main,

Ln7, Col 11 100%  Windows (CRLF) UTF-8

Program 33

This is a program to load 32-bit immediate run on the Designed Interpreter:-



File Edit Format View Help
.main:

C: \Users\USER\Downloads\RISC-V\riscv-emulator-main>MAINFILE DIV.asm
x22: 3

lui x2e, 108

addi x20, x28, 30

lui x21, 100

addi x21, x21, 200
add x22, x20, x21

C: \Users\USER\Downloads\RISC-V\riscv-emulator-main> .print x22
end

C: \Users\USER\Downloads\RISC-V\riscv-emulator-main>MAINFILE lui.asm
x22: 819700

n8 Col4 100%  Windows (CRLF) UTF-8

Program 34

This is a program to find odd or even number 1 for odd and O for even run on the Designed
Interpreter:-

Odd.asm - Notepad =

File Edit Format View Help

ers\USER\Downloads\RISC-V\riscv-emulator-maimMAINFILE C:\Users\USER\Downloads\Odd.asm  [Rekcle

%2201 addi x20, x0, 301
addi x21, x8, 2
\Users\USER\Downloads\RISC-V\riscv-emulator-mainy, rem x22, x20, x21
.print x22

end

[n6, Col 4 100%  Windows (CRLF) UTF-8




